
K mati
i A urèete mati
i inverzní A
−1.For given matrix A �nd its inverse A
−1.1) A = 



6 −4 −17
−1 1 32 −1 −6

6 −4 −17 1 0 0
−1 1 3 0 1 02 −1 −6 0 0 1
−1 1 3 0 1 00 2 1 1 6 00 1 0 0 2 1
−1 0 3 0 −1 −10 1 0 0 2 10 0 1 1 2 −21 0 0 3 7 −50 1 0 0 2 10 0 1 1 2 −2

A
−1 = 



3 7 −50 2 11 2 −2

2) A = 



−1 2 32 0 11 1 2



−1 2 3 1 0 02 0 1 0 1 01 1 2 0 0 1
−1 2 3 1 0 00 4 7 2 1 00 3 5 1 0 1
−1 2 3 1 0 00 1 2 1 1 −10 3 5 1 0 1
−1 0 −1 −1 −2 20 1 2 1 1 −10 0 1 2 3 −41 0 0 −1 −1 20 1 0 −3 −5 70 0 1 2 3 −4

A
−1 = 



−1 −1 2
−3 −5 72 3 −4

3) A = 



3 1 20 2 1
−1 3 3

3 1 2 1 0 00 2 1 0 1 0
−1 3 3 0 0 1
−1 3 3 0 0 10 2 1 0 1 00 10 11 1 0 3

−2 0 3 0 −3 20 12 6 0 6 00 0 6 1 −5 34 0 0 1 1 −10 12 0 −1 11 −30 0 12 2 −10 612 0 0 3 3 −30 12 0 −1 11 −30 0 12 2 −10 6
A

−1 = 112



3 3 −3
−1 11 −32 −10 6

4) A = 



2 0 3
−3 3 1
−3 2 −2

2 0 3 1 0 0
−3 3 1 0 1 0
−3 2 −2 0 0 12 0 3 1 0 00 6 11 3 2 00 4 5 3 0 22 0 3 1 0 00 4 5 3 0 20 0 7 −3 4 −614 0 0 16 −12 180 −28 0 −36 20 −440 0 7 −3 4 −67 0 0 8 −6 90 7 0 9 −5 110 0 7 −3 4 −6

A
−1 = 17



8 −6 99 −5 11
−3 4 −6

5) A = 



3 −2 12 0 −11 −3 3

3 −2 1 1 0 02 0 −1 0 1 01 −3 3 0 0 11 −3 3 0 0 10 6 −7 0 1 −20 7 −8 1 0 −31 −3 3 0 0 10 6 −7 0 1 −20 1 −1 1 −1 −11 0 0 3 −3 −20 1 −1 1 −1 −10 0 −1 −6 7 4
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21 0 0 3 −3 −20 1 0 7 −8 −50 0 1 6 −7 −4
A

−1 = 



3 −3 −27 −8 −56 −7 −4

6) A = 



1 0 41 −1 11 2 6

1 0 4 1 0 01 −1 1 0 1 01 2 6 0 0 11 −1 1 0 1 00 1 3 1 −1 00 3 5 0 −1 11 0 4 1 0 00 1 3 1 −1 00 0 −4 −3 2 11 0 0 −2 2 10 4 0 −5 2 30 0 4 3 −1 −14 0 0 −8 8 40 4 0 −5 2 30 0 4 3 −1 −1
A

−1 = 14 .





−8 8 4
−5 2 33 −2 −1

7) A = 



2 1 11 2 2
−1 0 −1

2 1 1 1 0 01 2 2 0 1 0
−1 0 −1 0 0 11 0 1 0 0 −10 1 −1 1 0 20 2 1 0 1 11 0 1 0 0 −10 1 −1 1 0 20 0 3 −2 1 −33 0 3 0 0 −30 3 −3 3 0 60 0 3 −2 1 −33 0 0 2 −1 00 3 0 1 1 30 0 3 −2 1 −3

A
−1 = 13



2 −1 01 1 3
−2 1 −3

8) A = 



1 0 41 −1 11 2 6



1 0 4 1 0 01 −1 1 0 1 01 2 6 0 0 11 0 4 1 0 00 −1 −3 −1 1 00 2 2 −1 0 11 0 4 1 0 00 1 3 1 −1 00 0 −4 −3 2 11 0 0 −2 2 10 4 0 −5 2 30 0 4 3 −2 −1
A

−1 = 14



−8 8 4
−5 2 33 −2 −1

9) A = 



5 −1 52 0 2
−3 −3 1

5 −1 5 1 0 02 0 2 0 1 0
−3 −3 1 0 0 15 −1 5 1 0 02 0 2 0 1 0
−1 −3 3 0 1 1
−1 −3 3 0 1 10 −16 20 1 5 50 −6 8 0 3 2
−1 −3 3 0 1 10 2 −4 1 −4 −10 −6 8 0 3 22 0 6 −3 1 10 2 4 1 −4 −10 0 −4 3 −9 −14 0 0 3 −7 −10 2 0 −2 5 00 0 4 −3 9 14 0 0 3 −7 −10 4 0 −4 10 00 0 4 −3 9 1

A
−1 = 14



3 −7 −1
−4 10 0
−3 9 1

10) A = 



1 4 31 3 32 5 3

1 4 3 1 0 01 3 3 0 1 02 5 3 0 0 11 4 3 1 0 00 −1 0 −1 1 00 −3 −3 −2 0 1



31 0 3 −3 4 00 −1 0 −1 1 00 0 −3 1 −3 11 0 0 −2 1 10 1 0 1 −1 00 0 −3 1 −3 13 0 0 −6 3 30 3 0 3 −3 00 0 3 −1 3 −1
A

−1 = 13



−6 3 33 −3 0
−1 3 −1

11) A = 





2 2 2 21 2 1 −21 0 1 02 0 0 2



2 2 2 2 1 0 0 01 2 1 −2 0 1 0 01 0 1 0 0 0 1 02 0 0 2 0 0 0 11 0 1 0 0 0 1 00 2 0 2 1 0 −2 00 2 0 −2 0 1 −1 00 0 −2 2 0 0 −2 11 0 1 0 0 0 1 00 2 0 2 1 0 −2 00 0 0 −4 −1 1 1 00 0 −2 2 0 0 −2 12 0 0 2 0 0 0 10 2 0 2 1 0 −2 00 0 −2 2 0 0 −2 10 0 0 4 1 −1 −1 04 0 0 0 −1 1 1 20 4 0 0 1 1 −3 00 0 4 0 1 −1 3 −20 0 0 4 1 −1 −1 0
A

−1 = 14





−1 1 1 21 1 −3 01 −1 3 −21 −2 −2 0



12) A = 





2 1 0 03 2 0 01 1 3 42 −1 2 3



2 1 0 0 1 0 0 03 2 0 0 0 1 0 01 1 3 4 0 0 1 02 −1 2 3 0 0 0 12 1 0 0 1 0 0 01 1 0 0 −1 1 0 01 1 3 4 0 0 1 02 −1 2 3 0 0 0 1

1 1 0 0 −1 1 0 00 −1 0 0 3 −2 0 00 0 3 4 1 −1 1 00 −3 2 3 2 −2 0 11 0 0 0 2 −1 0 00 −1 0 0 3 −2 0 00 0 3 4 1 −1 1 00 0 2 3 −7 4 0 11 0 0 0 2 −1 0 00 −1 0 0 3 −2 0 00 0 1 1 8 −5 1 −10 0 2 3 −7 4 0 11 0 0 0 2 −1 0 00 1 0 0 −3 2 0 00 0 1 1 8 −5 1 −10 0 0 1 −23 14 −2 31 0 0 0 2 −1 0 00 1 0 0 −3 2 0 00 0 1 0 31 −19 3 −40 0 0 1 −23 14 −2 3
A

−1 = 





2 −1 0 0
−3 2 0 031 −19 3 −4
−23 14 −2 3





13) A = 





3 −2 0 10 2 2 11 −2 −3 −20 1 2 1



3 −2 0 1 1 0 0 00 2 2 1 0 1 0 01 −2 −3 −2 0 0 1 00 1 2 1 0 0 0 11 −2 −3 −2 0 0 1 00 1 2 1 0 0 0 10 4 9 7 1 0 −3 00 2 2 1 0 1 0 01 0 1 0 0 0 1 20 1 2 1 0 0 0 10 0 1 3 1 0 −3 −40 0 −2 −1 0 1 0 −21 0 0 −3 −1 0 4 60 1 0 −5 −2 0 6 90 0 1 3 1 0 −3 −40 0 0 5 2 1 −6 −105 0 0 0 1 3 2 00 1 0 0 0 1 0 −10 0 5 0 −1 −3 3 100 0 0 5 2 1 −6 −10



45 0 0 0 1 3 2 00 5 0 0 0 5 0 −50 0 5 0 −1 −3 3 100 0 0 5 2 1 −6 −10
A

−1 = 15





1 3 2 00 5 0 −5
−1 −3 3 102 1 −6 −10



1) A = 



1 2 10 0 11 1 2

 A
−1 = 



−1 −3 21 1 −10 1 0

2) A = 



−1 2 −22 1 13 1 2



A
−1 = 



−1 6 −41 −4 31 −7 5

3) A = 



−2 1 −22 −2 11 1 2



A
−1 = 



5 4 33 2 2
−4 −3 −2

4) A = 



−2 1 −12 −2 13 1 2



A
−1 = 



−5 −3 −1
−1 −1 08 5 2

5) A = 



2 0 12 −1 01 1 2



A
−1 = 



2 −1 −14 −3 −2
−3 2 2

6) A = 



1 0 22 −5 01 1 3



A
−1 = 



15 −2 −106 −1 −4
−7 1 5



7) A = 



1 1 22 −5 01 1 3



A
−1 = 17



15 1 −106 −1 −4
−1 0 1

8) A = 



1 1 22 −4 21 1 3



A
−1 = 16



14 1 −106 −1 −2
−6 0 6

9) A = 



3 1 21 0 21 1 3



A
−1 = 15



2 1 −21 −7 4
−1 2 1

10) A = 



3 1 −21 0 25 1 3



A
−1 = 



2 5 −2
−7 −19 8
−1 −2 1

11) A = 



1 1 −22 −2 1
−6 1 4



A
−1 = 13



9 6 314 8 510 7 4

12) A = 



−1 1 13 0 1
−6 1 0



A
−1 = 12



1 −1 −16 −6 −4
−3 5 3

13) A = 



1 −1 13 4 11 1 1



A
−1 = 14



3 2 −5
−2 0 2
−1 −2 7




